

Jason Luo

jl2362 @ scarletmail.umd.edu

$$1. \int_{-\infty}^{\infty} \frac{x^2}{x^4+16} dx \rightarrow \int_{\gamma R} \frac{z^2}{z^4+16} dz$$

$$z^4+16 = (z^2+4i)(z^2-4i) = (z+a)(z-a)(z+b)(z-b)$$

$$a = \sqrt{4i} = 2e^{i\frac{\pi}{4}} = \sqrt{2} + i\sqrt{2}$$

$$b = \sqrt{-4i} = i\sqrt{4i} = -\sqrt{2} + i\sqrt{2}$$

only  $a = \sqrt{2} + i\sqrt{2}$  &  $b = -\sqrt{2} + i\sqrt{2}$  lie in the upper plane

$$\text{Res}(f(z); a) = \frac{a^2}{2a(a^2-b^2)} \left( \frac{z^2}{(z+a)(z^2-b^2)} \right)$$

$$= \frac{4i}{2a(4i - (-4i))} = \frac{4i}{2 \cdot 8i} \left( \frac{1}{\sqrt{2} + i\sqrt{2}} \right) = \frac{1}{4} \left( \frac{1}{4} \right) (\sqrt{2} - i\sqrt{2})$$

$$\begin{aligned} \text{Res}(f(z); b) &= \frac{b^2}{2b(b^2-a^2)} = \frac{-4i}{2b(-4i-4i)} = \frac{-4i}{2 \cdot (-8i)} \left( \frac{1}{-\sqrt{2} + i\sqrt{2}} \right) \\ &= \frac{1}{4} \left( \frac{1}{4} \right) (\sqrt{2} + i\sqrt{2}) \end{aligned}$$

$$\int_{-\infty}^{\infty} \frac{x^2}{x^4+16} dx = 2\pi i \left( \frac{1}{16} (\cancel{\sqrt{2} - i\sqrt{2}}) + \frac{1}{16} (\cancel{\sqrt{2} - i\sqrt{2}}) \right)$$

$$2\pi i \left( \frac{2}{16} (\checkmark i\sqrt{2}) \right) = \frac{4\sqrt{2}}{16} \pi = \boxed{\frac{\sqrt{2}}{4} \pi}$$